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Figure D.4: 2D displacement contours for h/D=1, OCR=1, Neq = 100,τcy/τa = 1
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Figure D.5: 2D displacement contours for h/D=1, OCR=1, Neq = 1,τcy/τa = 0



74 Displacement contour diagrams

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1
H=0

M
/M

ul
t

V/Vult

 

 
θ = 0.001−0.14 rad
w = 0.01−1 m

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1
M=0

H
/H

ul
t

V/Vult

 

 

u = 0.01−1 m
w = 0.01−1 m

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1
V=0

H/Hult

M
/M

ul
t

 

 

u = 0.01−1 m
θ = 0.001−0.14 rad

Figure D.6: 2D displacement contours for h/D=1, OCR=1, Neq = 10,τcy/τa = 0
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Figure D.7: 2D displacement contours for h/D=1, OCR=1, Neq = 100,τcy/τa = 0
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Figure D.8: 2D displacement contours for h/D=1, OCR=1, Neq = 1,τa = 0
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Figure D.9: 2D displacement contours for h/D=1, OCR=1, Neq = 10,τa = 0
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Figure D.10: 2D displacement contours for h/D=1, OCR=1, Neq = 100,τa = 0
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Figure D.11: 2D displacement contours for h/D=0.5, OCR=1, Neq = 1,τcy/τa = 1
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Figure D.12: 2D displacement contours for h/D=0.5, OCR=1, Neq = 10,τcy/τa = 1
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Figure D.13: 2D displacement contours for h/D=0.5, OCR=1, Neq = 100,τcy/τa = 1
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Figure D.14: 2D displacement contours for h/D=0.5, OCR=1, Neq = 1,τcy/τa = 2
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Figure D.15: 2D displacement contours for h/D=0.5, OCR=1, Neq = 100,τcy/τa = 2
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Figure D.16: 2D displacement contours for h/D=0.5, OCR=1, Neq = 10,τcy = 0
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Figure D.17: 2D displacement contours for h/D=0.5, OCR=1, Neq = 100,τcy = 0
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Figure D.18: 2D displacement contours for h/D=0.5, OCR=1, Neq = 10,τa = 0
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Figure D.19: 2D displacement contours for h/D=0.5, OCR=1, Neq = 100,τa = 0
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Figure D.20: 2D displacement contours for h/D=1, OCR=40, Neq = 10,τcy/τa = 2
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D.2 3D displacement contour diagrams
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Figure D.21: 3D displacement contours for M/Mult = 0.6,h/D=1, OCR=1,

Neq = 100,τcy/τa = 2

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

M/Mult=0.7

H/Hult

V
/V

ul
t

 

 

θ=0.001 − 0.14 rad

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

M/Mult=0.7

H/Hult

V
/V

ul
t

 

 

u = 0.01 − 1 m

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

M/Mult=0.7

H/Hult

V
/V

ul
t

 

 

w = 0.01 − 1 m

Figure D.22: 3D displacement contours for M/Mult = 0.7


	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	

	

	
	
	
	

	
	
	

	

	
	
	

	
	

	
	
	

	
	
	
	
	

	
	
	

	
	
	
	

	

	
	
	
	

	
	
	

	
	
	

	
	
	
	
	
	
	

	
	
	


